A SANDWICH MAKING EXAMPLE


A small shop makes sandwiches.  It doesn’t actually produce the bread, meat, cheese, lettuce, etc., that it uses.  Instead, it “adds value” to these items by putting them together.  In effect, it is a sandwich assembly factory.  Most businesses operate on this principle.  They don’t produce many of the inputs they use in their productive processes, but instead add value to them by assembling them and combining them in attractive combinations.
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How much would the owner of the sandwich shop, Sally, be willing to pay her workers?    If she is an economically rational profit-maximizer, she won’t want to pay them more than their MRP.   For example, if Sally already has hired two workers and is thinking about hiring the third worker, she can see that the third workers MRP  =  10  x  $.50  =  $5.00.  Paying the third worker more than this would be a losing proposition.  Indeed, competition among workers may cause her to pay all three workers $5.00.  

